

## जम्मू केंद्रीय विश्वविद्यालय Central University of Jammu

राया-सूचानी (बागला), जिला सांबा-181143, जम्मू (जम्मू एवं कश्मीर) Rahya-Suchani (Bagla), District: Samba – 181143, Jammu (J&K)

No: CUJ/W/2023/557	Date: 13 .10.2023

Sub: - Quotation.

Name of Work: Partition for computer lab in department of Economics.

Dear Sir,

CUJ invites quotation for partition for computer lab in department of Economics, Central University of Jammu, Rahya Suchani, Bagla. The work involves creation of partition walls, making electrical power points etc. You are requested to quote the overall percentage for complete work: "At Par", or "Above" or "Below" in figures, as well as, in words (including GST) of the enclosed format. In case of any discrepancy noticed in the quoted percentage, the percentage quoted in words shall be considered. Electricity charges @ 1% shall be deducted in case the vendor uses the electricity from CUJ resources.

### Terms and Conditions:-

- 1. The completion period is 15 days (Fifteen days) from the date of issue of work order.
- 2.The Estimated cost of work is Rs.62591/- (Rupees Sixty two thousand five hundred ninety one only)
- 3.Last date of submission of Quotation is 20.10.2023 at 12:00 hrs
- 4. Date of Opening of Quotation is 20.10.2023 at 15:00 hr or as decided by the convenor LPC.
- 5. Validity of Quotation is 45 days from the date of opening of Quotation.
- 6.Bidders quoting percentage item wise shall be summarily rejected. Rates are inclusive of all taxes, hiring of machinery like hydra for shifting, loading Unloading, transportation Octroi, cess, GST etc. Rates are FOR at site.
- 7. Statutory deductions like TDS & Labour cess as per applicable rates will be made from the contractor's bill.
- 8.Rates quoted shall be firm and fix and no escalation shall be provided throughout the currency of the period of work.
- 9. The Quantities shown are tentative and the quantity may increase or decrease with in permissible limits at the time of actual execution of work.
- 10. Payment shall be made as per the actual work done based on actual measurement at site.
- 11. All the materials used in the work shall be ISI marked.

W.



# जम्मू केंद्रीय विश्वविद्यालय

### **Central University of Jammu**

राया—सूचानी (बागला), जिला सांबा—18ँ1143, जम्मू (जम्मू एवं कश्मीर) Rahya-Suchani (Bagla), District: Samba – 181143, Jammu (J&K)

- 12. No advance payment will be made.
- 13. GST Bill should be provided.
- 14. CUJ reserves the right to cancel the work before the commencement of work and /or at any stage of execution as if found work is found substandard or not as per required specifications.
- 15. Payment shall be made through RTGS/NEFT.
- 16. Work is to be executed as per CPWD Specification 2019 VOL-1&VOL-2 with up-to-date correction slip
- 17. If the bidder withdraws from the work after coming out as Lowest within the bid validity period, the bidder shall be debarred from applying for further works in the University for period of two year.
- 18. Bidder may visit the site of place before quoting the rates and familiarise himself with the site conditions.
- 19. Bidders are required to submit following document along with Quotation:
  - i. Covering letter in Company letter head format.
  - ii. GST Registration/ Pan Card/Aadhar Card
  - iii. Contact Information of bidder (Complete address and Phone no.)

**Encl: As Above** 

(Er. Vishal Bargotra)

**Executive Engineer** 

CC: Guard File Notice Board



### जम्मू केंद्रीय विश्वविद्यालय Central University of Jammu

Central University of Jammu राया-सूचानी (बागला), जिला सांबा—181143, जम्मू (जम्मू एवं कश्मीर) Rahya-Suchani (Bagla), District: Samba – 181143, Jammu (J&K)

### **Quotation Form**

Name of Work: Partition for computer lab in department of Economics, Central University of Jammu.

Estimated Cost: Rs. 62591/-(Sixty two thousand five hundred ninety one only) (Inclusive of GST)

Name of Work	Quote Percentage(Above/At Par/Below) on Estimated co				
Partition for computer lab in department of Economics, Central University of Jammu.  Rs.62591/-(Inclusive of GST) (Rupees Sixty Two thousand five hundred ninety one only)	In figures	In words			

Signature & Stamp of the vendor

BAR





## जम्मू केंद्रीय विश्वविद्यालय Central University of Jammu

Central University of Jammu राया-सूचानी (बागला), जिला सांबा-181143, जम्मू (जम्मू एवं कश्मीर) Rahya-Suchani (Bagla), District: Samba - 181143, Jammu (J&K)

### **Bill of Quantities**

Partition work in Economics department

Sno	Item Description	Unit	Qty	Rate(Rs)	Amount(Rs)
1	Providing and fixing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubular sections/ appropriate Z sections and other sections of approved make conforming to IS: 733 and IS:1285, fixing with dash fasteners of required dia and size, including necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/ neoprene gasket etc. Aluminium sections shall be smooth, rust free, straight, mitred and jointed mechanically wherever required including cleat angle, Aluminium snap beading for glazing / panelling, C.P. brass / stainless steel screws, all complete as per architectural drawings and the directions of Engineer-in-charge. (Glazing, panelling and dash fasteners to be paid for separately):				
a	For fixed portion	Kg	32.00	433.95	13886.4
b	For shutters Anodised aluminium (anodised transparent or dyed to required shade according to IS: 1868, Minimum anodic coating of grade AC 15)	Kg	18.00	531.8	9572.4
2	Providing and fixing of ACP of 4 mm thick of	Sqm	10	1386	13860
3	Providing & fixing of MS tubular sections with a coat of primer	kg	5	120	600
4	Providing & Applying white cement based putty including jointing and taping	sqm	10	123	1230
5	Providing 7 Fixing Float glass pane of 4.0 mm include EPDM Rubber Neoprene gasket	sqm	2	1019.8	2039.6
6	Painting with delux multisurface paint of required shade including a coat of primer	sqm	10	145	1450
7	Providing & Fixing Prelaminated particle board of 12mm thick both side lamination	sqm	3	951	2853
8	Supply and Installation of wall mounted fans-400 mm sweep including wire for connection	No	2	2700	5400





# जम्मू केंद्रीय विश्वविद्यालय

Central University of Jammu राया-सूचानी (बागला), जिला सांबा-181143, जम्मू (जम्मू एवं कश्मीर) Rahya-Suchani (Bagla), District: Samba - 181143, Jammu (J&K)

					<b>=</b>
9	Supply and Installation of 6 Module GI Box along with modular plate/sheet with 2 modular sockets (6A) and 2 modular switches (6A)including wire for internal connection	No	6	850	5100
10	Supply and Installation of submain circuit from the nearby Distribution Board with Fire Resistant copper wire of appropriate size (4sqmm/2.5 sqmm as per the satisfaction of Engineer Incharge) along with loop circuit in ISI Marked PVC Batten/conduit for the Power socket outlets, lights, wall fans, etc as per the requirement.	Job	1	5000	5000
11	Supply and Installation of LED Batten Light-T5-4f-18W	No	4	400	1600
	Total				62591

Rupees Sixty two thousand five hundred ninety one only.

